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Reading Comprehension (Seen)
1. Go through the following text carefully :

Children generally copy the adults. It look beautiful when a child imitates an elder smoking
by holding a pencil between his/her tiny fingers. To speak the truth, this imitation helps them to
be smoker in future. According to WHO, tobacco kills more than seven million people each
year. Experts say that urgent action should be taken immediately otherwise. The annual death
toll could rise to more than eight million by 2030. So, it is time to motivate youngsters to stay
away from this deadly habit. The school can play a big role in case of motivation by organizing

events like sports, drama and story telling sessions. Parents have a big role to play. But, the

parent who smokes can never inspires his/her child.
A. Fill in the blanks with information from the text : 1x2=2

(i) Itis truth that

(ii) The annual death due to smoking by 2022 is

B. Answer the following questions :
(i) How can the school prevent the boys from smoking? 2
Ans.
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(i) What looks beautiful? 1
Ans.

C. Write ‘T’ for true and ‘F’ for false in the boxes on the right hand side. Also pick out
suitable line(s) or phrase(s) in support of your answer : 1¥2x2=3

(i) 65 lakhs of people die in every year due to smoking.
S.S. ¢

L]

-

(ii) The adult is imitated by the children.

S.S. :
D. Find out words from the passage which mean the follow_ingé : 1x2=2
(i) Inspiration

(ii) Characteristics

3 ' : GRAMMAR :

A. Fill in the blanks with suitable article and preposition : Yax4=2
As it has been raining mc;ming, so Today, I shall go to school
bus, not : foot. Father will go there bring me back.
B. Choose the correct forms of verb : : Yoxd=2
(i) Neither he nor his brother (was / were) received there.
(ii) Each of the participants will be (give / gave / given) a prize.
(iii) Iam | (please / pleasing / pleased) with you.

(iv) They are planning to (visit / visiting / visited) Digha.




C. Identify subordinate clause and write their kinds :

(i) Though the sky was overcast, it did not rain.
Ans.

(ii) I could not make out what the teacher wrote,
Ans.

D. Identify phrase and write their kinds :

(i) Dr. Kalam lived in a house, made of limestone and brick.
Ans.

(ii) The peasants are working to their field singing sweetly.
Ans.

E. Translate into English :
() = = el |

Ans.

(i1) R B #AfRTS i)

Ans,

F. Find out participle adjective and write their kinds :

(i) I picked up a wounded bird.
Ans.

(i) The rising sun looks beautiful.
Ans.
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1x2=2

1x2=2

1x2=2

1x2=2
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G. Change the mode of narration : 1x2=2
(i) The man said, “It was my parental house.”
Ans.
(ii) The girl said, “How happy I was there.”
Ans. '
H. Change the voice : : 1
) Air fills the room.
Ans.

3. : Writing Skill : 5
Write a short paragraph about Rahmat-E-Alam Mission where you have come to get
admission right now. (60 words)

Points : Name of the mission—location—building—teachers—colour—nature—your feelings
etc.

Ans.
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1. fvew eptoffor B wie ¢ 1x3=3
(i) @ ITiH ey A e o 2 %4-%&; A _
Ans. :
B C E
(i) % Teald Fies 3 ¢
PP IR 10% WG TG WE— (1) 19% (b) 20% (c) 21% (d) 18%.
Ans.
(ii) AABC-a3 AB = AC, ZACE = 115° AABC-ST /BAC-9% WiH—
(2) 65° (b) 50° (c) 40° (d) 45°
Ans.
2. Fiitea ey Bwa we ¢ 2x4=8

(i) x—%ﬂl E1c] E?f"i.}—xr R I A
Ans. !
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(i) (a) (3, 4) R y % (AT [Y FO?

Ans.

(®) (a-3, a—Q)ﬁiﬁxW@%Wﬁﬂlﬁmaﬂ?ﬂﬁW?
Ans.

(i) <o RERIGT 24 T QT 10 Fem 20 TG TR | €2 ATT 30 T TR IO 52
- Ans. .



MQUOTA-2023/1X /8

(iv) &% 7Ew g Aol rreim I 135°, I[Geie I Foe
Ans.

3. @ 0 25% @ civg | B 117 75 weiRRSe e B S g9 s Soe 7o
FANS TA? : . 25
Ans.
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4. G G FIACS 5 : 3 SHACS Falel 8 Tl GHET! SITR | €2 XFI009 I SN 9 A s ARS
AR ST BreTteT FiRie @ TTe ARSI TN N 203 : 4
Ans.

5. R ACPR G CHIFeT (m’ +4m - 21) I R &9 (m - 3) G | GRBA TG Fo? 3
Ans.
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6. FAFR S (h—c)(a—c) (b-a)(c-a) (a-
Ans. '

bl(c ~b)
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8. &yt I @, aﬁmﬁmmwﬁﬂwgﬁmm@mwﬁﬂ%ml 3
Ans.
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1. T emfadita Tea we ¢ 1xd=4
() aRTRRES 2T FieE o =
Ans.

(ii) SRR T FICE T e
Ans. :

(iif) CoRIRF celreta S et HRa oy vl Serwsten = o

Ans,

(iv) o FEIETOE o7t TN eI (R alfirArE e

Ans,

2. frafeifRte epejféra wiefire Ban wia ¢ ; 2x3=6
(i) el e (e dre ueo Bibn iz @ R oiRRds ont Tmme

Ans.

(i) 2R el wail Sarfmrie TR A (| cotreriiRies S S wwaa wo Wil Ao
I @
Ans,

(i) IO W%T T, T T W
Ans.
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1. o e Ted we ¢ 1x4=4
(i) @wmmmﬁw.ﬂﬁwaﬁﬁmwwmr

Ans.

A{ii} mqmmmwmm w{ATCef W @Y |
M.

(iii) 1 Kg SR T off i = fATEA F0A W A

Ans.

(iv) n #ERgCs REEH A0l ¥
Ans.

2. foroa epojfera T whe § 2x3=6
() Zn0+C — Zn+CO

Beiram AT AR v ¢ Remd Bkrs w6 |

Ans.

(il) AT T ts-ﬁmmmﬁlmsﬁm»rmmwmwmﬁﬁﬂm
Ans.

(iii) DI FICF 0 7 THIER We |

Ans.
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1. rea epsfEr ojfaires Teawe ¢ : ; 1x5=3
() I-RER A9 GF SRS 43 =1
Ans,

(i) ‘TR I WTHEAEE A3l
Ans.

(iil) &P A o i TR
Ans.

(iv) ©ETSA S9N SReE Wi |
Ans.

(v) SIS ACIR ACHEE TIPS SIS G 6 I ¢
Ans,

: GEOGRAPHY:

2. Frroa epaeifera ofarce Tew ot s 1x5=5
() = A e w3 g T el

Ans.

(i) e ey «iFewin o e i eaize e
Ans.

(iii) STPTS! @ FRESE e AT ET |

Ans.

(iv) To=iraet SITie= e Aiva Tafem e
Ans.

(v) T S 2¢ et b deFmiER M 1@ ol
Ans,




